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Parent Information: Number Patterns & Equations (3rd Grade)
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Third grade students use equations to represent and solve word problems. They use patterns to
complete input-output tables.
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Equation: A number sentence that uses the equal sign to show that two expressions have the same
value. 4+8=2x6 7-5=2 48=6x38
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Numerical Expression: A combination of numbers and operations. (+, -, X, +)
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Comparing Numerical Expressions:

e Use an equal sign (=) to show that two expressions have the same value.
8+6=7x2

e Use a greater than sign (>) or a less than sign (<) to show how two numerical expressions
compare to each other.
8+6<10x2 (8 +6islessthan 10 x 2)
8+6>12-2 (8 +6is greater than 12 - 2)
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Word problems can be represented by equations.

There are 6 boxes. There are 3 cookies in each box. How many cookies are there in all?

Total
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The unknown number can be the end result, or it can be another part of the problem.
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There are 6 boxes. There are the same number of cookies in each box. There are 18 cookies in all.
How many cookies are in each box?

Total
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There are some boxes. There are 3 cookies in each box. There are 18 cookies in all. How many
boxes are there?
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Patterns can be represented with input-output tables.

Number of Cows | Rule (Pattern) | Number of
Legs
1 x4 4
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4+ 28 i

This can be solved by thinking “What
times 4 is 28?” or by dividing 28 + 4

x4

28

by multiplying 6 x 4



